KENDRIYA VIDYALAYA SANGATHAN, LUCKNOW REGION
SESSION ENDING EXAM (2022-23)
CLASS - XI GEOGRAPHY (029)

Time: 03:00 Hrs. Max. Marks - 70
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General Instructions-
I. Question paper is divided into 4 sections A, B, C & D.
lI. In section A question number 1 to 17 are MCQ type questions.
lll.  In section B question number 18 to 23 are Short Answer type questions
(80-100 words). Question 18 & 19 are Source based questions.
IV. In section C question number 24 to 28 are Long Answer based questions
(120-150 words).

V. In section, D question number 29 & 30 are Map based questions having five

sub parts.
Q. gs 31/ SECTION A MK
NO. | s @3 & 17 Wt &1 WY 31fary &1/ There are 17 questions in this section. All | S
are mandatory.
01. | IS &del T Irgers 1,000 THeATEIR &, AT &RTcdeT & 1 Teh AT =hT 3915 9T 01
argerd fohder gRT 2
() 700 fAeeR (s 1,100 FAeER (&) 900 fAeNeR (1) 1,300
IGEICIES
If the surface air pressure is 1,000 Milibar, the air pressure at 1 km above the
surface will be:
(A) 700 Milibar  (B) 1,100 Milibar  (C) 900 Milibar (D) 1,300 Milibar
02 %ﬂﬁ-llﬁﬂﬂﬁﬁ*ll?ﬂﬁﬁﬁﬂ@ﬂgdﬂ%ﬂ%ﬁ 01
G- (AR Rerd) -1l (T=3)
1. A T. i3
2 IEECIEIC] . AT
3. GaHET AT, 3T geer
4. AY ITAH ST, HEG YT
(T) 1-4T, 2-37, 3-U, 4-&Y (slh) 1-dT, 2-w, 3-8, 4-3r
("m) 1-8, 2-T, 3-37, 4T (37) 1-8Y, 2-T, 3-37, 4-47
Match List-1 with List-Il and select the correct answer with help of the codes
given below
List-I (Biosphere Reserve) List-1l (State)
1. Nokrek A. Odisha
2. Similipal B. Meghalaya
3. Panchmarhi C. Andhra Pradesh
4. Seshachalam D. Madhya Pradesh
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(AY1-C, 2D, 3A, 4B (B) 1B, 2-A, 3C, 4D (C)1<C, 2-A, 3D, 4B (D)
1-B, 2-A, 3-D, 4-C

03 | UTehod AT He T TehH YhX b ddl bl [dRIVAT & ¢ 01
(V) SURRTNT PR af (M) A Ui e (&) ook goTITeh o
(37) 3SuThicaH T AGEgR ot
Parkland landscape is a special feature of which type of forests?
(A) Tropical Thorn Forests (B) Moist Deciduous Forest
(C) Dry Deciduous Forests (D) Tropical Evergreen Forests
04 | 3Teld h U bl Ugdlel ohy: 01

(T) 3Teths A9TeR o 1912 H Agleardry faeumdst faguid & gfaurfed fra
(e1) FafY FAgTEHT = Uk FgTedI 1A SuTerar F s R

(@) 20 FZ IY gl §3T Hﬁﬂ‘qﬁq%ﬂﬁam%mgml

(&) T2 FeTEAT aRRIAT AR Tiigarerels & ge arr

|dentify the incorrect statement:

(A)Alfred Wegner propounded continental drift theory in 1912.

(B)AIl continents formed a single continental landmass-Panthalassa.
(C)200 million years ago the super continent began to split.

(D)Super continent broke into Laurasia and Gondwanaland.

05

;TSJE?H (A) AT H &M & FGH AT IR YIRTAT Te&dT b ST 2 YT bl AT AT
I

$RUT (R) ARA & ¢2MeaT TAEAR F 918791 30 33t T fAeaAar g

(T) A 3R R &1 T § 3R R, A 1 H& TISCH0T & |

(&) A 3R RS- T § oifched R, A T T&T TASEHIUT Al 6|

(@) AT & eifhel R 310 B

3N AT g IRRTTEI

Assertion (A) India has 2 hours’ time difference between the easternmost and
westernmost parts of the country.

Reason (R) India has variations of nearly 30 degrees in its longitudinal extent.
(A) A and R are true and R is the correct explanation of A.

(B) A and R true but R is not the correct explanation of A.

(C) Ais false but R is true.

(D) A is true but R is false.

—_—
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GZJT oh 91 glel IR OST &1l oh UGH H TAFAT G H J ohled AT AT & 2
(tr)aw@rﬁasﬁquﬁrm@r?ﬁsﬁr%l
(ﬁ)qﬁrﬁmﬁﬁmﬁmﬁrwﬁmﬂﬁmwm%l
(@)W@M’\ﬁ??ﬁ%ﬁ@ﬂﬂﬂﬂ?ﬁﬁﬂ?ﬂadsd FEATAT & |
%ﬁ)ma‘»ﬂa&mw%mmﬁm & TUTATAROT S HTRAGT gl STl

With reference to heating and cooling of earth, which of the following is true?
(A) Lower layer of atmosphere is heated by the process of conduction.

(B) Atmosphere is heated by shortwave radiation reflected from the surface of
earth.

(C) Transfer of heat through horizontal movement of air is called convection.
(D) Transfer of heat through vertical movement of air is called advection.

01

07

TAFATATE T H 8 led T IICT ARG H EId gl 6 7

01
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(T) sAar&ar (sih) st o (HT) AT3C TdI¥c (M)
HTH

Which of the following peaks is not located in India?

(A) Nanda Devi (B) Kanchenjunga (C) Mount Everest
(D) Kamet
08 |TIF=TTelid H & chlel Tl oI 3cdldd HAThid HEIATIRI H A6l dIs STlcl & 2 01
%ﬁam (@) gareredy (@) AgErRg iR (3 REee
Which one of the following is not a minor relief feature in the oceans?
(A) Seamount (B) Atoll (C) Oceanic Deep (D) Guyot
09 |TAFATellTd A 8 Toh 8 Ao H ellehdleh Sllel TRIT g7 01
(T) el (aT) AR (& 3RTEs (37) JSTEATT
In which of the following states is Loktak lake situated?
(A) Kerala (B) Manipur (C) Uttarakhand (D) Rajasthan
10 ma?m;?r (A) ThIRN Y T 3UIIST SEHTS bl TARTTeT GINAT bl HIYe eh TelU Ten 01
ST g |
HIOT (R) weprer 1 arfa g gl &
(T) AR R T & 3R R, A FT I TqseiaoT g | (8) AR RaAT aca g
SIfehet R, A &1 TET TISET 78T |
(E) A TcT & aftet R 3700 2| 3N AT g IRRIT
I
Assertion (A) Light year is used to measure vast distances of universe.
Reason (R) The speed of the light is fastest.
(A) A and R are true and R is the correct explanation of A.
(B) A and R true but R is not the correct explanation of A.
(C) Ais false but R is true.
(D) A'is true but R is false.
11 WWEFFWCITEISTHHTWWW? 01
(T) AT AR &) gfarof AgramR (&) 3RS IER
(3 fég ATEIR
Which ancient sea was in place of Himalayan mountain?
(A) Tethys sea (B) Southern Ocean (C) Arabian Sea
(D) Indian Ocean
12 'Iﬂ??ﬂ?ﬂ'@?r &l THITT 01
earcell|
(a'ruﬂ—sfaﬂ?:r Eyfaan) (ATgHS T )
A. 39TS & |1y araA PIRar 1. IIAHSA
B. Y37 G I aT9d g2dT IR WRIdfad Sl & 2. AT Aol
C. TR 3iefieT TATIISE grel & 3. afrsrefar
D. AT YqUTdT # TeheH FORTaT 4, SNHASS
(T) T-4, -2, &@-1, 31-3 (slh) ©-3, &1-2, H1-4, 511
(°) T-4, &1, Ar-2, -3 (3N) T-4, -3, W-1, -2
Match the following
Column | Column Il
(Atmospheric Conditions) (Layers of Atmosphere)
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A. Temperature falls with height 1. lonosphere

B. Reflects radio waves back to earth 2. Stratosphere
C. Contains most of ozone 3. Tropopause
D. Fall in temperature gradient 4. Troposphere
(A) A4, B-2, C-1,D-3 (B) A-3, B-2, C-4, D-1
(C)A-4,B-1,C-2, D-3 (D) A-4, B-3, C-1, D-2
13 | TAeTTeldd & 4 1ohd Tels! AW el WX 'Sielscl il 183 d & 2 u 01
(T) AR TRt () HeTSHATS TgIsar (@) eIt ggIfsar
(37) TeATHTT TgISAT
On which of the following hill range is the 'Dodabeta’ peak situated?
(A) Nilgiri hills (B) Anaimalai hills (C) Cardamom hills (D)
Nallamala hills
14 | TA&ATATEd # ¥ leT AT JIH FHTeId ol 6.- 01
AT I SELCA
(T) 3TEaST hlcl
(3Y) Pell aTell StoR AT g
(&) Freragrdr CEIC)
SIS SEIC)
Which of the following pair is not correctly matched:-
Local Storm Associated
(A) Mango Shower Kerala
(B) Blossom Shower Himachal Pradesh
(C) Nor Wester Bengal
(D) Loo Punjab

IdMIﬂI{mWHMK (1510 17)
I HRA T HIH FAgeaqoT #1¢) g | Tg AGT STRIW@US T & Iaxanel forer

# Mo F e T Rerere & oom‘a@rﬁréﬁﬁwﬁr%lww
MR & AT & ST AT &1 I8 AT T o RATeT A0t &7 e Y 9T
HEE@ssl A gl IR Bl Wﬁmﬂnﬁ’ HeTeheteT & e & 3k o
a’l‘c\'mﬂmﬁ‘r%"’l 3Teleheiel #13T FT BT T F FW TATYT ReAae &1
37cTheier, Etell AR fasoy 31aT RIS & Al SoTell 8, it S a1 fasogmer
3 THerdT ¥ 3TcTeheter I 31T TETIF AT TUER &, 51 ST T 9T 7 e &,
ST FHeTfhell AT el I SHA FaoATeT 7 AT g1 a9 7T gRear 7 Aerer
H 9 FIA &1 gt F Tg Igel GIaror 3R, Y gfaror-qa 1 3R i A qa
&I 3R Sgdl g 310 #, ugafﬂm@rsma’rqudumﬁ (&TRT31T) FefRt 3iic
mﬁ%mﬁas’raﬁr%l SH AT T TS 2,525 frelieiex ¥ I8 3a@Us §
110 freleeT, AU H 1,450 foroliefey, R & 445 fraieex 3R afgs
WﬁSZOWW‘rWW%I 3T groft Fhaer AT & T 8.6 AT
ga1 fheliee 87 & thell §5 §1 I8 AR T TaH 3T JUdIg o &, [orad 3O H
RATTT T Aeholer arel IREATEY T AfAcargT Afear 31T ef&or 7 yreda O
fAeherel aTel AfercTardY afear anfaer & mﬂsﬂ?aﬁﬁmwﬁﬂﬁaﬁr
YW HETde a7 ol 919 dc 9 fAolel aroll Hgcaqul Herdeh sAfeal JHIa,
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AN, HTERT, 9TSeh, ShIHI d HgleIaT & | AN ¢diT & Tedshc g oIcl I dd: el
&1 @rEr 3 ST e &1
Read the following passage and answer the questions that follow: (15 to 17)
The Ganga is the most important river of India both from the point of
view of its basin and cultural significance. It rises in the Gangotri glacier near
Gaumukh (3,900 m) in the Uttarkashi district of Uttarakhand. Here, it is known
as the Bhagirathi. It cuts through the Central and the Lesser Himalayas in
narrow gorges. At Devprayag, the Bhagirathi meets the Alaknanda; hereafter,
it is known as the Ganga. The Alaknanda has its source in the Satopanth
glacier above Badrinath. The Alaknanda consists of the Dhauli and the
Vishnu Ganga, which meet at Joshimath or Vishnu Prayag. The other
tributaries of Alaknanda such as the Pindar joins it at Karna Prayag while
Mandakini or Kali Ganga meets it at Rudra Prayag. The Ganga enters the
plains at Haridwar. From here, it flows first to the south, then to the southeast
and east before splitting into two distributaries, namely the Bhagirathi and the
Padma. The river has a length of 2,525 km. It is shared by Uttarakhand (110
km) and Uttar Pradesh (1,450 km), Bihar (445 km) and West Bengal (520
km). The Ganga basin covers about 8.6 lakh sq. km area in India alone. The
Ganga River system is the largest in India having a number of perennial and
non-perennial rivers originating in the Himalayas in the north and the
Peninsula in the south, respectively. The Son is its major right bank tributary.
The important left bank tributaries are the Ramganga, the Gomati, the
Ghaghara, the Gandak, the Kosi and the Mahananda. The river finally
discharges itself into the Bay of Bengal near the Sagar Island.

15 d|d|| oACT TAFATelTdd H H TehH T H HETol H JA/A hldl & 01
U) R uger (&) 3T@s GUREIE] E)
River Ganga enters the plains in which of the following states
(A) Himachal Pradesh (B) Uttarakhand  (C) Punjab (D)
Haryana
16 | 9191 TohH 3T AT b I Tl ohl WISl H TdRd ohl HdH &3 Secl dodldl 6 ¢ 01
(T) &Y (sT) T () SEAY (@ 4T
Ganga forms the world’s Iargest delta in Bay of Bengal along with which other
river?
(A) Kosi (B) Yamuna (C) Brahmaputra (D) Son
17 | 3191 b 9dlg onl [dRAYAT TeHTTT &3 H TdFA Tl d H H Tohd TJeldU H 6 7 | 01
(T) fFga (a) AgrEss (@) Seer SHEIE]
The flow of Ganga is characterised by which of the following landforms in the
Himalayan regions?
(A) Meanders (B) Gorges (C) Deltas (D)
Lakes
s 9/ SECTION B
R HEAT 18 | 23 oY 3o WRe &1 WReT 18 31 19 Jiet 3menfd W &
Question numbers 18 to 23 are Short Answer type questions. Question 18 &
19 are Source based questions.
18 | IqU 9TV IIGIRI I EJI7qdP GlgU IR ol 1T IV Y] & 3cIY allolU. 03
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ST & QU &el & T gare= 1 a’lg?raﬂiama?ry—aﬁagm%l
SSUTHTRSENY o arer aelt & gt Y ST 50 G Tonfora ars St § 31k
STehicieh AT T fa=TTer U Sigas & T glivere [fetr g3m g

ITh{cieh JTIETU- S4- (&Y, J1¢, SATAE! 369X, arald, g@T 371G
qaawwémmqﬁmaﬂ?amqﬁrmﬁaﬁmﬁéaﬁ?
TRUAETET Faftid gefad weeit $r sta-Rfdvdr F sgana 3mar &1 Hrearems
3 3T Uy, SR grsgiehes (Hydrocarbon) 3R fadielr st e (Toxic
heavy metals), TacaTaler 3R FHNT T & 7€ F & &1 § Tomiadr, sit
TATA 3TaTH T Hel ST TSI G &, elfche] 37 IF H TS 1 715 §, 36
s yafaar (Exotic species) HET STl ¢l VH g 3eTel0T §, 519 faeerst
TSNl & 3MTHA & AIRAT & Uehfds AT HT Sid THCHT I ATTSH Jhdld
83| oo B & 3 a0, S, K- are, e, gr2h, 1, Foneres, Fs
< aferat &7, 34 i, wa@ﬁ%mﬁaﬂmmﬁwmmw
€| $HH BolEaed F QGIT%'HTW@?TQFWWHTTI?%I
F957 18.1. facol Garfaat I AP T aeafaar 3R shal a3 Far 987 T2
T 18.2. & T & R & 51l Vb Gofllad 1 @Rk & &G # [FEiRe ava 82
os7 18.3.8 BT & GTplcish PR & 57t TN IR SHal I FHEleT Tgerct &7
Read the given Passage carefully and answer the questions “that follow:

Since the last few decades, growth in human population has
increased the rate of consumption of natural resources. It has accelerated the
loss of species and habitation in different parts of the world. Tropical regions
which occupy only about one-fourth of the total area of the world, contain
about three fourth of the world human population. Over exploitation of
resources and deforestation have become rampant to fulfil the needs of large
population. As these tropical rain forests contain 50 per cent of the species on
the earth, destruction of natural habitats have proved disastrous for the entire
biosphere.

Natural calamities such as earthquakes, floods, volcanic eruptions, forest
fires, droughts, etc. cause damage to the flora and fauna of the earth,
bringing change the biodiversity of respective affected regions. Pesticides
and other pollutants such as hydrocarbons and toxic heavy metals destroy
the weak and sensitive species. Species which are not the natural inhabitants
of the local habitat but are introduced into the system, are called exotic
species. There are many examples when a natural biotic community of the
ecosystem suffered extensive damage because of the introduction of exotic
species. During the last few decades, some animals like tigers, elephants,
rhinoceros, crocodiles, minks and birds were hunted mercilessly by poachers
for their horn, tusks, hides, etc. It has resulted in the rendering of certain
types of organisms as endangered category

Q.18.1. What was the impact of introduction of exotic species on the flora and
fauna?

Q.18.2. What are the factors that determine a species as threatened?

Q18.3. Which are the natural factors that cause damage to flora and fauna?
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19 [T&ATeEd IR T ST deh EJTeT hlTolC N oI 1T 9T YR6AT b I 03
IS L
, 6,378 f-Tite
19.1 - 39 3rETd< (Discontinuity) & ATH IAST TolHeh GaRT IYCT 3R WA
(Mantle) 3relaT 81 & ?
19.2 - gl T TAE o 3T HIAT HT JTT Wid FAT 7
19.3- fg 9xd &l NIFE & 1 8 ST ST 82
Lithosphere
[cTust and '|I|1pt'|'
most solid mantle)
-100 km
thick
19.1 — Name the discontinuity by which crust and mantle are separated
19.2 - What is the main source of magma inside earth surface?
19.3- Which layer is known as NIFE?
20 | AlTAh AT 3R 519 H{IMeT & T A FISC ISV | 03
3dar
e s1aMer Y fohegl cfleT TET3T sl AT AT
Differentiate between Physical geography and Biogeography.
OR
Explain any three branches of Physical Geography.
21 AlehIdeh del&qTd FAT ¢ ? Tohed STeldig QRITATAAT H 300T shicddld dgldgk dd | 03
fasfad g 2
What is natural vegetation? Under what climatic conditions are, tropical
evergreen forests develop.
22 | AR Pl Tl ARWT h FATATH &7 03
3=dar
3YAGIEAIT Pl Thgd &2 HRAY 3usgedy 7 afeafad et & = _dfav|
What are the benefits of India's long coastline?
OR
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What is subcontinent ? Write the names of the countries included in the
Indian subcontinent.

23 | AATYCT TAdIROT X JeTeT H HTFHTCId cdled IIOI bl Hedlehe] hlTolT | 03
Evaluate the three stages involved in disaster mitigation and management.
s d/ SECTION C
et HEAT 24 W 28 &Y 3907 W24 § 1 Question numbers 24 to 28 are Long
Answer based questions.
24 | {IHITT Sfel 3TIRCel shlReh oh & H AT Teleh JTsh AT oh HATCIH H s H-3TepTIddAT | 05
T o HTOT T & | U 1 gfte ST
Underground water forms many landforms through chemical process as
erosional agent. Justify the statement.
25 W—W$q§'@ruw< Td 3clch Agcd ohl dUle hI[AT | 05
Describe the major types of Tides and their importance.
26 | SToldTd H Uch YohX bl U gld gU AT, WWWHWWWWS 05
STt &1 UG 3ETEA0T & ET 3 FUA Y TIT R
3dar
HR & 31T Sitest W AT & g I TTd T @]
Notwithstanding the broad climatic unity, the climate of India has many
regional variations. Elaborate this statement by giving suitable examples.
OR
Write any five effects of monsoon on the economic life of India.
2{. | Y24l Y A9 AT & TddAX0T sl JHATIAT el dTel Tehotl 9T SRehl ehl dUT $Irete] [ 05
Describe any five factors affecting distribution of temperature on the Earth?
28 | ARA A &g A1 3dl & ? AR H &1 JdUT &191 31X d1¢ 119407 34Tl ol 3eold | 05
HITST|
3=qdr
3hT &1 §? Soleh hRUN 3R TGl ol cATEdm HTAT |
Why flood occurs in India? Mention the flood prone areas and flood control
measures in India.
OR
What is an earthquake? Describe their causes and effects.
s a/ SECTION D .
WReT HEAT 29 3R 30 AR MR weet §, [iet91 @ I 3 9l 3U-H1T &
Question numbers 29 & 30 are Map based questions having 5 Sub-parts
each.
29 |[TCU 31T 19T oh Yolddlldeh ATATIT H TedFoATel I d dld of&T0T gRMU T g| SAH H [ 05

foheel a1 SI&T0TH Sl TgaTTAT 3R Tcdeh ofaToT H 3ifehd YIWTHT I 3eTh el o1
QT

On the given political map of the world, the following seven features are
shown. ldentify any five of these features and write their correct names on the
lines marked in each feature.

Toh BICT Telc/A Minor plate

UTRTEITdh glc F41c/Ecological Hot Spot

Uoh 9TH oToldl /A Warm current.

Tch Wj;d/A Sea.

m O Q W >

Toh ded&del /A Hot Spot.
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Ueh ¢div /An island.

Tah ¢ 2T/A Country.

W)
=

A & QT T olellldeh AT WY, TAFTelTd H 8 Tehogl UTT Sl 3T
fIegt & a1y yeiia fifaw
On the given political map of India, locate and label any five of the following
with appropriate symbols:

GH bl SildHS [«IdA/A biosphere reserve of Assam.

UTICAIITT AT bl HH oIFdl «Icl/Largest river of peninsular India.

AR bl ATdTIdH 9dd AU/ The oldest mountain range of India.

AT H YdTel ¢dIdl =l Teh HHG/A group of coral islands in India .

m O O | >

HART H "4 T YTed hid dlell Ush AT/ A place receiving the highest
amount of rainfall in India.

M

IS AT AR sl H&d 3dT dICl/ Highest mountain peak of peninsular of
India.

PRIAS de / Coromandal Coast .

Q.29 .
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Q.30

INDIA

i OUTLINE MAP WITH STATES
& UNION TERRITORIES

»=

- International Boundary
"""" ~ State/UT Boundary
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